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1) If A = (1 2 3), then the rank of AAT is

@ o0 ®2 ()3 (d1

2) The rank of m x n matrix whose elements are unity is

@0 ®1 (¢ m (d)n

3) A B
if T= g ( 0.4 0'6) is a transition probability matrix, then at equilibrium A is equal to
0.2 0.8
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The rank of the matrix 1 2 3 is
1 4 9
@ o ()1 (2 (d3
6) The rank of the unit matrix of order n is
@ n-1 M n (¢ n+1 (d) n2
7 1t p(A) = then which of the following is correct?
(@) all the minors of order r which does not vanish  (b) A has at least one minor of order r which does not vanish
(c) A has at least one (r+1) order minor which vanishes (d) all (r+1) and higher order minors should not vanish
8) 1
IfA=] 2 then the rank of AAT is
3
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9) A -1 0
If the rank of the matrix 0 A -1 is 2. Then A\ is
-1 0 A
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The rank of the diagonal matrix 2
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A (07 03) . . . . i
d% 0 :(:;) (&5 eb‘g@nsma?rbpyobablhty matrix, then the value of x is .

Which of the following is not an elementary transformation?
(a) R; < Rj b) R, — 2R; + 2Cj (c) R; = 2R; — 4Rj d C; — C; + 5Cj
If p(A) = p(A, B) then the system is .

(@) Consistent and has infinitely many solutions  (b) Consistent and has a unique solution (c¢) Consistent

(d) inconsistent

If p(A) = p(A, B) the number of unknowns, then the system is .

(@) Consistent and has infinitely many solutions  (b) Consistent and has a unique solution (¢) consistent

(d) inconsistent

if p(A) # p(A, B), then the system is

(@) Consistent and has infinitely many solutions (b) Consistent and has a unique solution (c) inconsistent

(d) consistent

In a transition probability matrix, all the entries are greater than or equal to
@2 (1 (cgo (d 3

If the number of variables in a non-homogeneous system AX = B is n, then the system possesses a unique solution only

when
(@ p(A)=p(A,B)>n (b) p(A) =p(A,B)=n (o) p(A) =p(A,B) <n (d) none of these
The system of equations 4x + 6y = 5, 6x + 9y = 7 has

(@) aunique solution (b) no solution (c) infinitely many solutions (d) none of these

For the system of equations x +2y +3z=1,2x+y+3z=2,5x+ 5y +9z=4

(a) there is only one solution (b) there exists infinitely many solutions (c) there is no solution (d) None of these

If |A| # 0, then A is .

(a) non-singular matrix (b) singular matrix  (c) zero matrix (d) none of these

The system of linear equations x +y +z =2, 2x +y -z =3, 3x + 2y + k = 4 has unique solution, if k is not equal to
@ 4 Mmoo (9 -4 (1

Cramer’s rule is applicable only to get an unique solution when
@ A, #0 () Ay #0 () AF0 (@ Ay #0

b b a; b c a .
FL 42—, 22— A | Y, Ay = b then (x, ) is
T Y 'z Yy ’ ’ Co Q3
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|Apxn| = 3 |adjA| = 243 then the valuenis

@ 4 (bS5 ()6 (d7

Rank of a null matrix is

@ 0o (M -1 (c)oo (d1

If the minor of ap3 = the co-factor of a3 in |a;j| then the minor of as3 is |ay| then the minor of as3 is

@ 1 (b)2 ()0 (d)3



27) " IfIAI = 0, then [adj Al is

@o (M1 (©-1 (@ *1

28) 2 k

For what value of k, the matrix A = (3

) has no inverse?

@ & () & (©3 (@ 10

29) The rank of an n X n matrix each of whose elements is 2 is

@1 (2 (©@n (dn

30) 52 53 54
The value of |53 54 5P
5¢ 55 5°

(@ 52 () 0 (o) 5% (4 5°

31) If A, B are two n x n non-singular matrices, then

(a) AB is non-singular (b) ABis singular (c) (AB)!=A1B?! (d) (AB)! does not exit

32)

2 -4
The rank of the matrix < L 9 > is

(@) 1 (b) 2 () O (d) 8

33) Equivalent matrices are obtained by

(a) Taking Inverses (b) Taking transposes (c) Taking adjoints
(d) Taking finite number of elementary transformation

34) In echelon form, which of the following is incorrect?

(a) Every row of A which has all its entries O occurs below every row which had a non - zero entry.
(b) The first non -zero entry in each non-zero row is 1
() The number of zeros before the first non zero element in a row is less than the number of such zeros in the next row.

(d) 2 rows can have the same number of zeros before the first non-zero entry

35 A # 0 then the system is

(a) consistent and has unique solution (b) consistent and has infinitely many solution (c) inconsistent

(d) either consistent or inconsistent

36) 1 -1 2
The rank of the matrix | 2 —2 4 | is
4 —4 8

(@) 1 ()2 (93 (d)4

37) -1

The rank of the diagonal matrix 0 is

@0 @ 2 ()3 (5

38) If A = (2 01) then rank of AAT is

(@ 1 (b2 (93 (o

39 If the equation =2z +y+ 2 =101, x —2y+ z=m,x + y — 22 = n such that 1 + m + n = 0, then the system has

(a) non - zero unique solution  (b) Trivial solutions (c¢) Infinitely many solutions (d) No solution
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If A is a square matrix of order 3, then |Adj A| =

(@) |A]2  (b) |A]

(© 1A]° (@) |Al*

If |A| =0, then |adj A| =

@o (1 (©-1 (@ *1

The rank of n X n matrix each of whose element is 1 is

(@& 1 (b)) 2 ()n

(d) n?

The rank of a non-singular matrix of order n x n is

@n (®n*> (©0 (@1

0.7 0.3
x

IfT:A<

) is transition probability matrix then x =

(@ 0.3 (b) 0.2 (c) 0.4 (d) 0.7

Choose the correct statement

(a) The rank of a zero

(c) Rank of a non-singular matrix of order n x n is n

matrix is taken to be 1 (b) For zero matrix, the least value of the rank is1

If a matrix is self inverse then which of the following is incorrect?

(@) adj(A) = [A|A

b) A2=1 (c) Aadj(A)=1 (@ A3=A"1

Consider Assertion a) and Reason (R) given below.

Assertion (A) : Rank of a diagonal matrix of order n x nis n

Reason (R) : Since p(A) < min {m, n}

(@) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is nor the correct explanation of A.

(d) Ais false but R is true

Match List I with List Il

p(4, B) = p(A)

Consistent and has infinitely many solution

p(4, B) = p(4) = n

Consistent

p(Aa B) - p(A) <n

Inconsistent, No solution

p(4,B) # p(4)

Consistent and has unique solution

Where n denotes the number of unknowns.

The correct match is

(a) d; b ,C, a (b) a, C, b7 d (C) C,ayd’b (d) b,d,a,c

If a matrix is self inverse then which of the following is incorrect?

(@) adj(A) = [A|A

\A|:13and\Ade|:‘§

(@) 3 (b)) 4 (o) 2

M) A2=1 (c) Aadj(A)=1 (@ A3=A4""

then the value of x is

(d) -5

@ p(A) # p (A7)

(c) Ais true but R is false.





